Data Repository item 2005022

Allmendinger-Cornell University, MKJ-01-01B, Feldspar, J = 0.001603 * 0.5%

4 amu discrimination = 1.02456 * 0.48%, 40/39K = 0.00 + 0.0002%, 36/37Ca = 0.0002784 + 2.99%, 39/37Ca = 0.0006807 * 2.94%
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37Ar
15.286
26.878
15.096
15.080
15.542
18.161
14.856
15.544
13.718
17.561
14.463
0.338
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14.553
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38Ar
0.055
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39Ar
2.479
3.416
3.738
4.185
4.228
2.564
2.064
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2.160
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40Ar
34.344
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53.059
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25.985
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42.8
215
29.2
31.0
30.9
28.3
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14.2
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note: isotope beams in mV risd = released, error in age includes 0.5% J error, all errors 1 sigma
(Not corrected for decay)

Ca/K
8.51814565
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8.15417136
5.98773579
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6.74411461
8.91424944
11.012403
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Mean £ s.d. =
wtd mean =

40Ar*/39ArK Age (Ma)

9.17
10.42
9.20
10.00
9.46
11.84
14.61
8.08
8.81
11.31
11.22
5.77
10.85
9.73
83.85
13.98
10.13
16.72
9.78
14.47
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16.52
0.05



Data Repository item 2005022

Allmendinger-Cornell, RWA2002-03, biotite, 7.90 mg, J = 0.001565 * 0.5%
4 amu discrimination = 1.02339 * 0.27%, 40/39K = 0.0002 £ 0.0003, 36/37Ca = 0.000278 + 2.89%, 39/37Ca = 0.00067 + 1.96%
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36Ar
20.345
8.545
8.713
5.697
5.051
4.967
3.513
1.770
1.181
0.598
0.110

37Ar
0.331
0.513
0.838
1.157
1.234
1.127
1.979
10.899
19.592
6.606
3.515

38Ar
4.115
1.895
2.403
2.464
2.614
2.845
2.950
2.598
3.017
2.278
0.268

39Ar
8.636
18.679
53.825
107.211
129.712
144.633
170.679
173.678
214.482
162.665
18.333

40Ar
6392.59
2692.06
2718.44
1861.88
1708.75
1698.37
1294.81
759.264
622.196
384.245
55.389

%40Ar*
8.1
8.4
7.5
1.7
14.7
15.6
21.7
33.1
46.0
55.9
46.8

Cumulative %39Ar rlsd =

note: isotope beams in mV, rlsd = released, error in age includes 0.5% J error, all errors 1 sigma
(Not corrected for decay)

% 39Ar risd
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14.4
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1.5

100.0

Ca/K
0.13027157
0.09334546
0.05291565
0.03667888
0.03233378
0.02648361
0.03940834

0.2132981
0.31048867
0.13803199
0.65176977

40Ar/39ArK Age (Ma)

60.1916
12.0843
3.7790
2.0345
1.9410
1.8341
1.6519
1.4439
1.3292
1.3030
1.2369

Total gas age =

no plateau
Isochron age =
(steps 5-10)

162.41
33.80
10.64
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4.07
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3.49
6.36

3.49

1s.d.

5.39
1.1
0.41
0.14
0.11
0.11
0.07
0.04
0.03
0.03
0.06
0.03

0.04

34-1-3 bt



